
INcbd112_UK_FR_DE_IT

921-500

ASSEMBLY & INSTRUCTION MANUAL

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY



-1-

130



-2-

130



-3-

130



-4-

130



-5-

M 1L 1

K 1J 1

I 1

E 1D 1

C 1B 1A 5

H 1G 1

F 1

① 1 ② 6
+1 (spare)

③ 16
+1 (spare)

M5*18 M8*25



-6-

K 1

D 1

C 1

B 1

A 5

H 1
M8*25

③ 4

① 1

03



-7-

I 1

M8*25

③ 4

① 1

05

04



-8-

J 1

E 1

G 1

F 1

M5*18

M8*25

M8*25

③ 4

③ 4

② 6

① 1

① 1

① 1

06

08

07



-9-

M 1

L 1

09




